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(B) Sf4FE481H (F) SH5&E3H31H
(8847 : /)
BERE FHE(A) RE(B) ZR(A)-(B) W=
NERIRBZINA 330, 035, 000 343, 926, 886 13,891, 886
EAEUTZINA 337,313, 700 328,875, 774 8, 437, 926
BB A 0 0
EEZINA 0 0
BSIIETZINA 0 0
ALY —C RS BEINA 0 0
EEREEZINA 0 0
ERELINA 0 0
”; ZOMOELINA 90, 795, 000 87, 758, 200 3, 036, 800
ZOMOINA G R 6,997, 000 6,712, 926 284,074
BASFSHIBITA 455,000 274, 680 180, 320
F| |zssmsmema 20, 000 211,914 191,914
i SEFIBELSINA 240, 000 7, 540 232, 460
B|  |[HSEbE S S T S SERIBILA 0 0
| |eotoma 9, 425, 000 4, 490, 825 4,934,175
& e EETs L BN 0 0
E BEFHINAG (1) 775, 280, 700 772, 258, 745 3,021, 955
| | Az 443, 951, 000 443, 445, 571 505, 429
e 138, 240, 000 135, 538, 677 2,701, 323
BRERH 111, 157,000 99,733, 358 11,423, 642
PRIEEE T 0 0
EEET 0 0
i FUFRE EIEERAA 0 0
SRS 2,751,000 2,737, 899 13,101
AN ST A S TIFIB 0 0
ZOMOIH 0 0
TEEREIIES L3 E R 0 0
BREEHTHE (2) 696, 099, 000 681, 455, 505 14, 643, 495
BRIHASUTES (3) = (1) - (2) 79,181,700 90, 803, 240 11, 621, 540
MRS AR INA 1, 500, 000 1, 500, 000 0
TR RS RINA 0 0
BRESBASINA 0 0
8 ”;Z AL SRR E R BASINA 0 0
B EEEREFAMIA 0 0
2| |20tomREHECLBINA 0 0
@ |mmemsmAst (4) 1, 500, 000 1, 500, 000 0
? BRELBASTREERE 55, 860, 000 55, 860, 000 0
r|  |smEmsesmsmREemASTemET 0 0
3|  |BxaEivest 14, 254, 000 21,483, 300 7,229, 300
R i B AR - BT 0 0
2P sz u-zmmsomEst 0 0
EOMONE RS LB R 0 0
MRS R L (5) 70,114, 000 77,343, 300 7,229, 300
IEREHEERINEEE (6) = (4) — (5) ~68, 614, 000 ~75, 843, 300 7,229, 300
ERESELEALTLIESHEIIA 0 0
EESELEASINA 0 0
BESEMEASIIA 0 0
HAELES IS L EREEESEASINA 0 0
IR | EHRE A SEIRIA 0 0
2 | [ERRLR TS RO R TR 0 0
o| |mEvEmbEEssEIRA 0 0
fn|  |FETzEREERERA 0 0
O |zofoEBCLBIRA 0 0
g ZOMDEBIRAG (7) 0 0 0
- |EmEzaseAssamEzm 17, 500, 000 17, 500, 000 0
+| |eEzEmE TR 0 0
3| |aminst e s EREEESBASTAMESE 0 0
”;‘ , [Fus s 0 0
5 [ EIL SR R AR S 0 0
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M SEES T 0 0
IEESH 0 0
ZOMDEBCLZZH 0 0
ZOMEBZHE (8) 17, 500, 000 17,500, 000 0

TOMOEBNESINZERE (9) = (7) — (8) -17, 500, 000 -17, 500, 000 0

FHEZH (10) 0

LHAESINSZEESST (11) = (3) + (6) + (9) — (10) -6, 932, 300 -2, 540, 060 -4,392, 240

BIEARZINESRE (12) 583,085, 785 -583, 085, 785

UERSTIERES (11) + (12) -6, 932, 300 580, 545, 725 -587, 478, 025
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